English 5" Grade A-L
Vocabulary Cards and Word Walls

Revised: 11/18/14

Important Notes for Teachers:

e The vocabulary cards in this file match the Common Core, the math
curriculum adopted by the Utah State Board of Education, August 2010.

e The cards are arranged alphabetically.

e Each card has three sections.

o Section 1 is only the word. This is to be used as a visual aid in
spelling and pronunciation. It is also used when students are writing
their own “kid-friendly” definition and drawing their own graphic.

o Section 2 has the word and a graphic. This graphic is available to be
used as a model by the teacher.

o Section 3 has the word, a graphic, and a definition. This is to be used
for the Word Wall in the classroom. For more information on using a
Word Wall for Daily Review — see “Vocabulary — Word Wall Ideas”
on this website.

e These cards are designed to help all students with math content vocabulary,
including ELL, Gifted and Talented, Special Education, and Regular
Education students.

For possible additions or corrections to the vocabulary cards, please contact the
Granite School District Math Department at 385-646-4239.
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acute triangle

acute /\
triangle

acute
triangle




addend

33+4.7+0.9=38.6

addend ~/

addends

33+4.7+0.9=238.6
addend o

addends



Additive ldentity
Property of O

Additive

_ e )
ldentity o o )
Property of O 4+0=4
4 N
® o |
Additive ldentity | o g g e to s e
Property of 0 \ J the given number.

4+0=4



algorithm

algorithm

Partial Product Example

555
x
35
350
3500
3885

Step 1.
Step 2:
Step 3:
Step 4.

Multiply the ones.
Multiply the tens.
Multiply the hundreds.
Add the partial products.

algorithm

Partial Product Example

555
x 7
35
350
3500
3885

Step 1:
Step 2:
Step 3:
Step 4:

Multiply the ones.
Multiply the tens.

Multiply the hundreds.
Add the partial products.

Step-by-step method
for computing.




al€a

2 rows of 5 = 10 square units
or

a rea 2 x 5 =10 square units

2 rows of 5 =10 square units :
The measure, in square

or _ In s
2 x 5 = 10 square units units, of the interior
region of a

a. r e a. two-dimensional figure
or the surface of a
- three-dimensional figure.




area model

area
model

20 + 8

9 x20=180 9x8=72

9 x 28 = (9 x 20) + (9 x 8) = 252

area
model

20

+ 8

9x20=180

9x8=72

A model of multiplication
that shows each place
value product.

9 x 28 = (9 x 20) + (9 x 8) = 252




array

array

3rowsof4 @& @ @ @

or
3 x4

array

3rowsof4 @ @@ @

or
3X4

An arrangement of
objects in equal rows.



Assoclative Property
of Addition

Assoclative
Property
of Addition =15

ASSO C i at i Ve The sum stays the same
when the grouping of
addends is changed.
Property @byt et (bro)
15=15 where a, b, and ¢ stand for

Of Ad d i ti O n any real numbers.



Assoclative Property
of Multiplication

Assoclative (5x7)x3=5x (7 x3)
Property of
Multiplication 105 =105

Associative  (5x7)x3=5x(7x3) _Theprodutsiaysthe

same when the grouping

of factors is changed.
Property Of 105 = 105 (axb)xc=ax(bxc),
where a, b, and ¢ stand

M u Itl pl ICatl On for any real numbers.



attribute

attribute

attribute




axIs

y-axis

origin

()

2

[

0

axls

y-axis

origin

2

1

0

1 2

X-axis

A reference line from
which distances or
angles are measured in a
coordinate grid.
(plural - axes)



ar graph

bar graph

Number of Students

=T Y I = - -

Potato Preference )
& o
Mashed French Fries Baked Tater Tots

Type of Potato

bar graph

Number of Studenis

=R L B - I -]

Potato Preference

[t
)

- o

e |

Mashed

French Fries Baked
Type of Potato

Tater Tots

A graph that uses
the height or length
of rectangles to
compare data.




bar model

radies$ [ 30 | 30 | 30 |
Velma’s$| 30 I ?

bar model - ==

Eddie has 3 times as much money as Velma. Tina
has 2 times as much money as Velma. If Tina has
$60, how much money do they have altogether?

bar
model

Eddies$ | 30 | 30 | 30 | A model that
uses bars to
represent known
and unknown
guantities and

Velma’s $ I 30 I 7

Tina’s $ I 30 I 30 I

: : : the relationship
Eddie has 3 times as much money as Velma. Tina between these
has 2 times as much money as Velma. If Tina has antities
$60, how much money do they have altogether? quantities.




pase of a solid figure

base of a -

solid figure S

base Of a’ - face upon which it can

solid figure e v o
ase

A base of a solid figure




base of an exponent

baseofan = . 4 %"
exponent o

exponent
base Of an 4 / raised to a power.
O In 10%, 10 is the base
d4isth .
exponent 1 "0 s raised o the
P wer of 4.
ase (10* 10 x 10 = 10,000)



base-ten numeral form

base-ten 12,345

numeral form 311 e rundode place

3 hundreds or 300.

A common way of writing
a number using digits.
baSe-te n y The value of a numeral
depends on where it
appears in the number.

numeral form  sisin the hundreds piace, (also known as

It has a value of
3 hundreds or 300. standard form)



base-ten numerals

base-ten 01234
numerals 56789




benchmark

0.76 — 0.23

benchmark { !
0.75-0.25

O 76 O 23 A familiar number that
. - . can be used as a reference

point. Benchmarks can be
benchmark | }

used to estimate decimal
sums and differences.
O 7 5 L O 2 5 (0, 0.25, 0.50, 0.75, and 1 are
. . good benchmark numbers.)



benchmark

fractions

benchmark
fractions

<= O.
5 5 5 = =
1 1 1 1 1 1 n n
8 8 8 38 3 3 3 S
4 3
> =2
5 8

0

benchmark EImmomT

fractions

Fractions that are
commonly used for
estimation. A
benchmark fraction
helps you compare
two fractions.




braces

— T~
braces {0,1,2,3,4,5}

Braces can be used to
/ \ indicate that the objects
b raceS written between them
belong to a set.
{0, 1, 2, 3,4, 5}



brackets

brac

kets

~

N




capacity




centimeter (cm)

centimeter
(cm)
centimeter ®

(cm)




common denominator

12 1S a common

comimon denominator for:
denominator Zand 3

12 1S a common
. For two or more
common denominator for: fractions, acommon

denominator is a

denominator 2 and 3 e denominators.

3 4



common factor

common T
faCtO r Common F?f:tzo,r; %f 12 and 18:

12 (1, 2, 3, 4, 6, 12)

common 18 (1, 2. 3. 6, 9, 18)
faCtO r Common jli?cgfr;c’)fQZ and 18:

Any common factor of
two or more numbers.



common multiple

CO m m O n 4,8, 12, 16, 20, 24, 28, 32, 36...

6, 12, 18, 24, 30, 36, 42...

m u I tl p I e Commonll\él’uzltAriF):I%%s“c?f 4 and 6:

C O m m O n 4, 86 1122 1168 2204’2346,2386’3422’36."
m u I tl p I e Common 1I\éluzl’zpclgeGsof 4 and 6:

Any common multiple
of two or more numbers.



Commutative Property
of Addition

Commutative ]
Property -
of Addition -

Commutative = T s st e e
F) r O e rt adderlda |:s ghj\nged.
p y 3+2=2+3 Wr?ereaand baére

Of Add |t|0n any real numbers.



Commutative Property
of Multiplication

Commutative
Property of
Multiplication

" The product stays the
CO m m Utatlve XXX same when the order of
ooooooo i the factors is changed.
Property of  z2::::0: ooc: axb=bxa
ooooooooooo where a and b are

Multiplication X7 = 7%

any real numbers.



compatible numbers

compatible 1’3154 * 612

numbers 1.200 = 60

- 1,354 - 62 Numbers that are easy to
t tally and

compatible ™" T e
actual numbers.

n u m be rS 1 ’ 200 _ 60 Compatible numbers can

be used when estimating.



COMpOSE

(3x100)+ (4 x10)+(2x1)

COm Ose \300 + 410 + 2/
N

(3x100)+ (4 x10)+(2x 1)
\ 1 / To put together,

300 + 40 2 as in numbers
CO m pOse \ 3}|-2 +/ or shapes.



congruent

congruent A A

aaaaaaaaa




coordinate grid

coordinate
grid

coordinate .

grid |

A two-dimensional system
in which the coordinates of
a point are its distances
from two intersecting,
usually perpendicular,
straight lines called axes.
(also known as coordinate
plane or coordinate system)



coordinate plane

coordinate
plane

coordinate .

plane |

A two-dimensional system
in which the coordinates of
a point are its distances
from two intersecting,
usually perpendicular,
straight lines called axes.
(also known as coordinate
grid or coordinate system)



coordinate system

coordinate
system

=
—
N
w9
»

coordinate .

system

A two-dimensional system
in which the coordinates of
a point are its distances from
two intersecting, usually
perpendicular, straight lines
called axes. (also known as
a coordinate grid or
coordinate plane)



coordinates

coordinates

(3,2)

(x .,y

: 7 An ordered pair

- f numbers th
coordinates o umbers hat
0 > oordinat

I R coordinate plane.
(3, 2)
(x )




corresponding terms

corresponding

Add 6 6 12 24

orms [ L

Terms that are in the
same position in a
sequence of numbers.

20d Term | 3* Term | 4% Term

Add3 3 6 ﬂ 12

corresponding
terms

In the pattern shown,
9 and 18 are the
Add6 | g 12 \13} 24 3rd terms in each
g sequence; they are
corresponding terms.




cube

cube

A rectangular solid

C u be having 6 congruent

square faces.




cubic unit

1 unit

l

1 unit
e

cubic unit

<+«—1 unit —»

1 unit A unit such as a cubic
l meter to measure
volume or capacity.

cubic unit

/ 1 unit
<+—1 unit —»
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data

Pl m
o .|:
C

Number of School Carnival
Tickets Sold
Kindergarten 22
1% Grade 15
a a 2" Grade 34
3" Grade 9
4™ Grade 16
5% Grade 29
6% Grade 11
Number of School Carnival
Tickets Sold
Kindergarten 22 Information, espeCia”y
1" Grade = numerical information.
27 Grade 34 .
ata 37 Grade 0 Usually organized
4" Grade 16 for analysis.
5™ Grade 20
6™ Grade 11




decagon

decagon .

decag()ﬂ . A polygon w ith 10 s ides.



decagonal prism

decagonal ﬁ
prism

d eCag O n al A prism whose two
prism W | T



http://upload.wikimedia.org/wikipedia/commons/a/a5/Decagonal_prism.png
http://upload.wikimedia.org/wikipedia/commons/a/a5/Decagonal_prism.png

decimal

$29.45

decimal 530 002

A number with one or
$29 45 more digits to the right
" of a decimal point.
Decimal is used as
53 . O O . O 2 another name for

decimal fraction.

decimal



decimal fraction

decimal .
fraction i

100

A fractional number
with a denominator of
10 or a power of 10.
It can be written with
a decimal point.

decimal
fraction




decimal point

decimal 4 5o

! f

pOi nt decimal points

dECi mal $155 32 A dot separating the

whole number from

' T T the fraction in
O I nt - . decimal notation.
p decimal points



decimeter

decimeter

A hand span is about 1 decimeter.

— A metric unit of length.

d eC i m ete r | 1 decimeter = 0.1 meter

10 decimeters = 1 meter

A hand span is about 1 decimeter.



decompose

RN

decompose 0+ 2

(3x100)+ (4 x10) +(2x1)

342
/ ‘ \ To separate into

300 + 40 + 2 components or
decompose TEUN TN ke

(3x100)+(4x10)+(2x1)



dekameter uh
(dam) P

(dam)




denominator

o Equal_ parts
. @ 1 g
denominator &2 - ..

1 2 3 in the whole

1  Equalparts  The number written
described In below the line
- - fraction in a fraction. It
denominator et how mény
Cl) ? ? 3 e Equal parts equal parts are

in the whole in the whole.



diagonal

diagonal JZ

diagonal z



difference

49.75-13.9=35.85

difference ~

difference

- 49.75-13.9=35.85 The amount that r_emf':\ins
difference S iyl

difference



Distributive Property

10 + 4
DIStrIbUtlve 6| 6x10=60 6x 4=24
6 x 14 = 6 x (10 + 4)
Property e
=84
10 + 4

DlStrlbUt|Ve 6] 6x10=60

When one of the
6 x4 =24 | factorsofaproductis
a sum, multiplying

each addend before

Property

=84

=60+24

change the product.




dividend

dividend o

dividend

8| 578

dividend /

dividend



aivisible

divisible

¢ 9 @ @
3358

8 is divisible by 2 because
there i1s no remainder.
8+2=4

divisible

A number is divisible
by another number if
the quotient is a

8 Is divisible by 2 because
there is no remainder.
8+-2=4

counting number
without a remainder.




divisor

. \
divisor 8\578

divisor

3578
- - The quantity by which
) .
divisor \ e ey

divisor



elapsed time

elapsed
time

elapsed
time




equation

equation

These expressions balance the scale
because they are equal.

- A statement that two
e u at I O n mathematical
expressions are equal.

These expressions balance the scale
because they are equal.




equiangular triangle

equiangular
triangle \

eqUianglJIar A triangle with all
tr i an g I e equal angles (60°).




equilateral triangle

equilateral
triangle .

eq u i Iate ral ‘Atriangle with all
triang Ie eeeeeeeeeeee length.




equivalent fractions

equivalent !
fractions |

equivalent
fractions




estimate

estimate

Closeto 1 Closeto 1

\ /

3,5
4+6;'2

is approximately equal to

estimate

Closeto 1

\
3,

Closeto 1

'/ A number close to an

exact amount. An
;=2

estimate tells about
how much or
/" about how many.

is approximately equal to




evaluate

42 — 13 =n

evaluate o

42 _ 13 = n To find the value of a
eval u ate - mathematical expression.
n=29



expanded form

expanded | 34/.392=

3x100+4x10+7x1+
BX(%)+9><(1;O)+

form ()

expanded 347.392= N—

3x100+4x10+7x1+ numbers that shows
the place value

form 3"(%)"'9)((1;0)"' of each digit.
2% ()
1,000



exponent

exponent
I base ~
10 x 10 x 10 x 10 = 10,000
exponent

The number that tells
the number of times
eX p O n e n the base is multiplied

—~~ by itself.

base
10 x 10 x 10 x 10 = 10,000



expression

expression X+ 3

no equal sign.

A variable or
combination of

expression x + 3 v s
a mathematical
equal s relationship.



factor

2X6=12
factor 3

factors

2 X 6 — 12 An integer that divides
faCtO r \I evenl)g into another.

factors



fluld ounce

fluid ounce @

- / A customary unit of capacity.
fIUId Ounce @ 8 fluid ounces =1 cup



foot (ft)

12 inches = 1 foot

12 inches = 1 foot _
A customary unit

fOOt (Ft)  mrmrmmrme
inches - 1 foot = 12 inches



formula

height
ormduia = |
width
+«— length — /
! _ A general
neight mathematical rule
O rl I l u a V = lwh l that is written
b as an equation.
width

+«— length—»

'



fraction

Measurement Set Area
Model Model Model
= YYD E
I l I I 4 4 4 4 .
I I -

Bar Diagram What is %7

(thickened number line)

Measurement Set Area

Model Model Model i
A way to describe

fraction T g0 WM ety

using equal parts.

—

|
|

Bar Diagram What is %?

(thickened number line)




fraction bar

| 2
fraction bar 3= 2+3

- —_— — . that t
fractionbar — =2+3  meee,
the denominator.



fraction greater

than one
fraction greater © —-
than one

fraction greater 0 —

than one 3



fraction less

than one
fraction less 3— -
than one

fraction less 3 -

than one







gram (9)

The mass of a paperclip
IS about 1 gram.

gram (g)

The mass of a paperclip
Is about 1 gram.

) The standard unit of mass
ral I l / in the metric system.
// 1,000 grams = 1 kilogram



greater than

greater @ 7

than g

greater 3

than = - . ., Gl
eeeeeeeeeeeee
5>3



neight

height [

height heigm/(

A perpendicular
line segment
from the
base to the top
of the figure.



nheptagon

heptagon .

h e ptag O n . A polygon w ith 7 sides.



nexagon

hexagon <::>

h exag O n <:> A polygon with 6 sides.



nexagonal prism

hexagonal
prism /

hexagonal x
pPrism ‘/




hilerarch

Quadrilaterals

parallelograms

rhombuse

hierarchy

Quadrilaterals

An organizational
chart to show
classification or
relationships based
on properties.

hierarchy




hundredth

—

hundredth

—

hundredth One o 100 cqul




hundredths

hundredths  4.38

In the decimal
numeration system,
h u n d redth S hundredths is the name
0 of the next place to the
right of tenths.



Inch (In)




Inequality

2.236 < 7.543

inequality — ~—-

These expressions do not balance
the scale because they are not equal.

2.236 < 7.543

A mathematical sentence
- - 7543 that compares two
I n e u al I t unequal expressions
using one of the
These expressions do not balance symbols < or >.
the scale because they are not equal.



Intersect

intersect ><

intersect ><



Interval

Interval

o o
(==
[

Allowance Karned

intervals 56

of1 = T%.]

Lucy's Weekly Allowance

Interval

S12
511

T s10

intervals =7
of 1 s

Lucy's Weekly Allowance

The distance between

the values on the

scale of a graph.




Inverse operations

Inverse
operations

Multiplication and division
are inverse operations.

8 x5=40
40+-5=18

INVErse
operations

Multiplication and division

are inverse operations.

8 x 5 = 40
40 +5=8

Operations that
undo each other.




Isoscles triangle

1Sosceles
triangle

1Sosceles
triangle

A



Kilogram

Kilogram

(kg)

Math book

1
About 2 > pounds

Kilogram
(k9)

Math book

About 2 % pounds

A metric unit of
mass equal to
1000 grams.



Kilometer (km)

4 0
| D
I I l A kilometer (km) is about the length
of 4 city blocks.

Kilometer
(km)

A metric unit of
length equal to
1000 meters.

A kilometer (km) is about the length
of 4 city blocks.



lateral face

lateral face A ES&

lateral face
The face of a prism
id that i
lateral tace orpyrami vt



How long something is.
The distance from one
point to another.
Length is measured in units
such as inches, feet,
centimeters, etc.




length (1)

length (I)
G g —
/A
length (1)
/ V h




less than

less than @

3<5

less than @ ISR e

3 < 5 eeeeeeeeeee



like denominators

like 3 5 [

denominators

| W

like § Z
3

Denominators in two

ore fractions that
1 th .
denominators (& Q QO i

OO



line graph

line graph

Allowance Harned

Lucy's Weekly Allowance

s12
s11

$10 /.
39 /\\\./

58 /

ol /

36 (

$5 4

line graph

Lucy's Weekly Allowance

A graph used to show
how data changes
over time with points
connected by
line segments.



liIne of symmetry

line of
symmetry

line of
symmetry




line plot

b B B B B

line plot

R Y

L b M
N
=

Number of pets

x ¢
- x x - A diagram showing
I I n e I Ot o frequency of data
x x ox ox on a number line.
N T S

Number of pet



liIne symmetry
line

4

' "< ---------------- |--ll>
y y ;

4
What a figure has if
< |. it can be folded in half
and its two parts
match exactly.
v

line
symmetry




liter (L)

large bottle of soda or
bottle of water

liter (L)

I

1,000mL=1L

o
L

large bottle of soda or
bottle of water

liter (L)

F

The basic unit of capacity
In the metric system.
1 liter = 1,000 milliliters

L a
L

1,000mL=1L



long division

long
division

332 R0

23@

73
-69

46
-46

0

332 R0
23)7636
-69
long s

-69

division “

A standard procedure
suitable for dividing
simple or complex
multi-digit numbers.



lowest terms

o | &

lowest terms

N |~

g in lowest terms is %

A fraction where the
numerator and
denominator have
no common factor
greater than 1.

N[ &

lowest terms

g in lowest terms is g.









